. s = R r h 2%T1 =) Ire o
BH22020) 5 Wi R AT TR B /R — L R R A O A1 SR B O e e (Bl oo en RS $ADMNE
—r TR TR —F TTETEEE —F THETEER TR TR W R T TR
o | 2 |es| B # WEDTE | priEs i | 2| | K| 7| mzmes | 2nimes i | 2 es | # BEDTE | 2w i | e | K| 2| mzmes | 2nmes i | X | |2 | mznes | 2naes i | X | K| 2| mzmes | 2naes
E’*F’ﬁiﬁix Eﬂ%ﬁ%Fﬁ%k EIHEH%FE]Ej: ! E@Fﬁéﬁﬁﬁx EIHE%%F%E?: ! Elagﬁ%ﬁ%x
“lal™|als MEl R EE “lals MEl R E E lal®(als "lals
1|7 1 1 %év% [HES 1 1 L 118 1] 2 g | HEHER 1 1 e | KN E= 1] 3 [HPAE 2
2 | XK 1 1 i | IFES 1 1 2 [k 1 1 e 2 | X 1 1 srzzeuns|l 2 [B] 2 1 2 [ k]2 1 BEME-2fF)
3| 1 1 srgrdTae | 3 1 B 1 1 FREL=H 3 | K 1] 2 ERFLERE|| 3 | £ 1 1 wrszewrt|| 3| A2 3 3| K 1] 2
4 | £]3 3 4 1 1 1 HEYDH 4 [ X 1 1 4 [ £ 1 1 4 (k]2 1 4 [£]2 2
5[ H 1 1 5 [ 1 1 ELDH 5 | & 1] 2 AR 5 | B 1 1 5 [ k]2 3 5 [ £]2 4
6 | A 1 1 ik B2 AE 1 1 REKE 6 [X£]2 1 EE e | IR G 1 1 o | IAES 1]3 6| B 1 1
7K 1 1 AES 1 1 718 1 1 EEINGC | IEEES 1 1 HEEZEEQ|L 7 | £]2 4 3EZEKHA 171A8]2 2
FER 1 1 AN 8 [ £ 1 1 s [ Al2 2 N | IFNER B 1 HEZEQ|L 8 [ £]2 1 8 [ k]2 3
9 | K 1 1 SERE BT AR 9| £ 1 1 weuroegsE] [ 9 | k] 2 1 zaazmmazeel| 9 | K[ 2 2 9| H 113 9 | k]2 3
10| £ 1 1 St AR 10| B 1 1 ELEQ ] 10 ] K 1] 2 sasszmam] [ 10| £ 2 2 srmrasnsoon] [ 10 | 8] 2 1 W B 10l K| 2 3
[ERES 1 1 1] 8B 1 1 420K L 11 ] K] 2 1 z2504a566 | 1] £ 1[3 1]k 114 B 113 HERNRRE
12| H 1 1 12 & 1 1 sazenanz|l 12| 2] 2 2 wanErz—x) [ 12| B 2 1 12| K 1 1 12| £]8 4 © R g AR
13| B 1 1 BETS 13 [ K 1 1 mRHEHEM] [ 13 ] £ 113 13| A2 2 13| & 1 1 BB 13[Ba]s 4 © WRHFARSC)
14| & 1 1 ke | FAES 1 1 141 8] 2 1 14 k]2 2 sien-gnpaz| | 14| £ 1 1 ERlA=] 14 A 1]2
15 [ K 1 1 EEE A | IR E 1 1 PTAZFIESSI1 15| A] 2 2 15 | 7K 1 1 15-27 D15 | £ 1 1 15 k]2 1
16 | &< 1 1 Bkl | IR ES 1 1 16] k]2 1 gxEhTAH [16] &] 2 2 so-srenzaz] | 16 | H 113 16 | X[ 2 2
17| £ 1 1 HATHES 17| B 1 1 17 k]2 2 17[£]2 2 1S® 171 A2 3 17 x[2 2
18| £ 1 1 18| B 1 1 ERpEs L8l K] 2 1 18 [ £ 1]3 18 | X 113 RS 18[£]2 2
1918 1 1 19| X 1 1 1M EED 19 £ 1] 2 stERdgE|l 19| B2 1 19 k] 2 3 exaEnTA 19 £]2 1
20| A 1 1 AR 20 | 7 1 1 ememzae |20 £] 2 3 20| A2 2 ISEZEE |20 K 1 1 20[ B 1 1 HOLEY
21| X 1 1 ) 21| K 1 1 12 MEMEEG 21| 8 1 1 21| k] 2 2 macgmaza|l 21| £] 2 2 e | ARE 1] 4 wEDH
22 | K 1 1 e oz | 22 | & 1 1 2 A]2 2 22| K] 2 1 ezt swwmE] [ 22 £ 2 3 2] 2 3 MHEnH
23| K 1 1 IGES 23| = 1 1 23| k] 2 1 BERE 23| #Hi] 2 3 BEOH 23| H 1 1 23 [ K] 2 2
24| & 1 1 24| H 1 1 24| K] 2 2 wsemshoneg] | 24 | $1 1 1 ZR—ynB|1 24| A 2 2 24| K| 2 2 BESE
25| & 1 1 25| B 1 1 BEsE |25 K] 2 2 25 [ £ 2 3 25 [k 1 1 25| ]2 2
26| B 1 1 26 | K 1 1 26 | & 1 1 EmBiEEl | 26 | B 1 1 26| K] 2 2 26| £ 1 1 ARATATTITANT )
27| A 1 1 27 | K 1 1 27| £ 1] 3 271 A1 2 2 21| x| 2 2 [ E=N0) 27| H] 2 1
28 | K 1 1 HER S 28 | K 1 1 srnzeszon] [ 28 B 1 1 28 | M 2 2 28|12 2 28| A 1 1 126 RIRESTER
29 | 1 1 wioppTaka] | 29 | & 1 1 20| A 1 1 20| K] 2 2 29| & 113 29 | K 1 1
30 | & 1 1 30| £ 1 1 30 | 1 1 1emmrEad] | 30 [ & 1]2 —aEBAZ|130] 8] 2 1 30 | 7k 1 1
31| B 1 1 31[£]2 1 31{A]2 2 B E AR
HE S HE S5 EE =E HE £S5 EE S HE S5
CEHREHT 7 7 FEHAKEETTTE 8 HHEKEGTTT0 0 FHREH! T ) FEHAEHTS 6 FHREHS 5
KEREHT 8 8 REHREET3 I KREREGTS 5 KERES 6 KEREG 6 ) REREGT Y §
FREBEMTYH#DIV/0! #DIV/0! TREMSMETY ! HHEH #DIV/0! FREHEMETY! 20 2.0 TREHEMATEY; 20 2.0 FREHHMTY: 20 2.7 FREHEETY] 20 2.3
HREEBEMTY 3.0 3.0 REEBEMTY: HitH #.DIV/O! *BEESEMTY: 20 3.0 *wEEBEMTEY: 20 3.0 KEFEBEMTES: 2.0 3.0 *BEESHMTY: 40 3.8
108 | &@E | =% |8 1A | &#E | =& |5 128 | &E | =& |8 1A | &E | =E |8 2R | #E | = |8 3R | FE | =# |8
Nes| 7 || |G| mmmes | 2news I M M e e N[ ® e | #| | mmmens | ennss N [E s [ E | mmmes | 2o I P M e e e N [l [ 5| wmmes | 2rass
S P 1 R A B Jpg | Epg | E| 2 S PHE P B A B Jpg | E|pg | E| 2 B Jpg | Epg | E| 2 B lpg | E|pg | E| 2 FRAEE
5] A= _ 5] al= 5] Bl= A A= 5] gal= A A=
[HES 1 1 vr-7y7 88| 1 | B 114 REA R 1 | X 1 1 K 1 1 xH 1[A]?2 2 sepaxzzc)| 1 | A 1 1 ZEXEEQ) ETE
2 [ £ 1 1 seEzr—R|[ 2 [ A2 2 2 [k 1 1 aurara2eEl 2 T 1 1 2 [ k]2 2 2 [ & 1 1 s
3 [ £ 1 1 3 [#]2 1 XiLD B K ES 1 1 xmpxzad|| 3 | B 1 1 3 [Kx]2 2 3 [ 1 1 ZEER 119
4| H 1 1 4 |1 k]2 3 sieaweEg|| 4 [ £ 1 1 2zgmxzzEe | 4 [ A 2 1 4 [ K 1 1 4 [ KX] 2 1 REFEH
5 | A 1 1 5 [ X2 3 5 [ £ 1 1 5 | k] 2 4 5 [ £ 1 1 HEEAR 5 [£]2 1 RS — ETH
6 | X 1 1 22zl 6 [ £ 2 3 6 | H 1 1 6 [ K 114 6 | £]2 4 6 [ X£]2 3
ER i i =mmzze| | 7 [£18 3 Il © mrraEmall 7 [ B 1 1 mnrEas| | 7 | &2 2 rExgEzE|| 7 | B 1|2 7|8 1 1 130
8 | K| 2 2 2gpmzzc)| 8 | H] 8 © syl s | k] 2 1 2ppmrzze)l 8 [£] 2 1 s | A]2 1 serraz3|[ s [ A] 2 1 TAMRHD ]
9 [£]2 2 rRiZBR¥%|| 9 | B 1[2 9 [x] 2 3 9 [£]2 4 9 [k 1 1 #AESEI 9 | X 1 1 7 AREHREHE KBE®REH
10] £+ 113 CEINGENG | ENIPE B 1 10] K| 2 3 +vyraEzee] | 10] B 1 1 10] k]2 2 3EERA 10 [ K 1 1 — AR A st
11] 8] 2 1 agAGiEe) 11 ] K] 2 2 FEZER|LU[£]2 1 e | EERE 1] 4 BRADH 11 ] # 1]3 gERZoE|[11] K 1 1 REFER
12] A2 2 12 K] 2 2 12| £ 1 1 12 k]2 1 12 £]2 1 wesmrEss| | 12| £ 1 1 REFEH 79
13] k]2 2 13[£]2 2 s | EHIELB 1 13] k]2 2 13| £ 13 e el ERES 113
14] k]2 2 14 £ 1]3 14 B2 2 14 x| 2 2 141 8] 2 1 148 1 1 =45
15 K 1 1 sEsasrE] [ 5] B 1 1 BRI 15| k] 2 [HEI R 1 i onse] | 15 | B 112 REMLIK 15| ]2 1 REFEH
16[£]2 2 et | EE B 2 EERITEE] | 16 | K 1] 2 wHEgra| 16| £ 1]3 16| k]2 1 PTAsEZEE Sl 16| k] 2 1 REFEH 78
171 £] 2 4 17 k]2 2 ezRTeE) 17| K] 2 2 =wyrEzoe] [ 17] B 2 1 17 | 5k 1 1 e Il ER 1 1 SRHER
18] A 1 1 18] K] 2 2 g2RTeE)ll 18] £ 2 2 18] A] 2 2 18 | & 1 1 sippeEaz]l 8] x| 2 3 @A 28|
191 B2 2 19 K[ 2 2 2RTeE [ 19] £] 2 1 19 [ k]2 2 19| £ 1 1 19| £]2 3 AKEBEE
20 [ k]2 1 20 [ £ 1 1 2tk stE] | 20 | A 1 1 20 [ k] 2 2 20[x 1 1 20 [ 1 1 E5>NDH EHE
21 [ k]2 2 EREEGD | IBREA B 4 21 A2 2 21| K 1 1 BExz || 2118 1 1 gsmzErcCol21] 8] 2 3
AEIA B wrsxmcn| |22 [ B2 i 22| k|2 i FEma=E| |22 2] 2 i GECE|FEE Kb K 22| A [ REZEH 198
23| & 112 2120 |23 # 1] 4 gyEEoa]l 23] k] 2 2 23| ]2 4 23| 1 1 xegER 23] k]2 1 BT BER
24 % 113 E120 |24 & 1 1 BESE 24| K 113 gt x| 241 B 1 1 24 [ K 1 1 sexszosrzaa] | 24 | /K| 2 3 ES
25| H 1 1 25 | 71 1]2 BEEEEE|[25[£]2 3 25| A2 2 25 | K 1 1 PEREEQI| 25| K] 2 3
26 | B2 2 107240 7| [ 26 | & i i 26| £ 13 26 | X ]2 26 | = [ 1 1 sExza0||26[ 2 1 1 e awEen 208
27 X 2 2 BESE 21| & 1 1 271 8] 2 3 27| k| 2 2 271 £ 1 1 271 £ 1]3
28 [ k] 2 2 cxapazrang) | 28 | T 1 1 28 A2 1 28 | A 2 2 sexaxea0|| 28| A 1 1 28 A 2 1
29 | & 1]2 29| B 1 1 29 | & 1 1 29| ] 2 1 SEREFERQ) 29| A 2 4
30| 2] 2 2 eumTara-2e) [ 30| B 1 1 30 | K 1 1 30[x£]1 3 30 [ k]2 4
31| £] 2 4 REFA (23 D) . FEES 1 1 31[B]2 1 31 [ k]2 4
ST =0 HiEi S STEl =i T ET] i S ETEI =75
g 7 SEHREHTT 6 EHTT0 2 FHREHTTS 7 E=HIRL 13 SEHREETT0 16
6 5 KEREET 6 5 KEREGTS 6 REREGT 6 KEREGT S 6 REREGTS 4
FREBHEMFY: 2.0 2.0 FREDEATEY] 20 2.2 FREHHMTEY: 20 2.4 FREBEMATEY] 20 2.3 FREHHMTEY: 20 2.0 FREHEMETY] 20 3.2
R BEB BRI 20 35 KEEDHETEY: 44 3.6 KBEBEMESY: 2.0 3.0 KEEDHMTY: 1.8 3.3 hEEBEMTY: 2.0 3.3 HEEDEMTEY: 2.0 3.0




